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Q.1 Select the INCORRECTLY spelt word.
Ans JJ 1. Messanger

Kﬂ 2. Immediate
KF 3. Massage

< 4. Amass

Question ID : 424429727
Status : Answered
Chosen Option : 4

Q.2 Select the correct indirect form of the given sentence.

The manager said, “| want you to attend the conference.”

Ans ?( 1. The manager said | am wanting you to attend the conference.

o 2. The manager said that she wanted me to attend the conference.
£< 3. The manager said that she want me to attend the conference.

K’ 4. The manager told to me | am to go to attend the conference.

Question ID : 424429709
Status : Answered
Chosen Option : 2

Q.3 Given below are four jumbled sentences. Out of the given options, pick the one that gives
their correct order.

A. While the most common belief is that these traits remain fixed, research studies show
otherwise!

B. One such research study suggests that we can change our traits provided we want to
change them.

C. We all possess certain personality traits that set us apart from the rest.
D. These traits, a mix of good and bad, define how we respond to situations and people.

Ans X 1.BCAD

o 2. cpaB
/< 3.cBDA
< 4.ACDB

Question ID : 424429719
Status : Answered
Chosen Option : 3




Q.4 Select the word which means the same as the group of words given.
One whom it is impossible to defeat
Ans « 1. Invincible
x 2. Cowardly
x 3. Dissatisfied
x 4. Inimitable
Question ID : 424429728
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Red okra from Karnataka. Black rice from Gujarat. Red corn from Tamil Nadu. What you would
(1) as exotic varieties of food today are (2) indigenous crops that belong to a
specific region. Many such (3) crops have gone extinct. Many more are on the brink. But
with Indian households (4) more conscious about healthy eating and the natural
benefits of consuming local food, (5) among both consumers and farmers is
increasing.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank number 1.
Ans x 1. describing
J 2. describe
x 3. described
x 4. describes
Question ID : 424429713
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Red okra from Karnataka. Black rice from Gujarat. Red corn from Tamil Nadu. What you would
(1) as exotic varieties of food today are (2) indigenous crops that belong to a
specific region. Many such (3) crops have gone extinct. Many more are on the brink. But
with Indian households (4) more conscious about healthy eating and the natural
benefits of consuming local food, (5) among both consumers and farmers is
increasing.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank number 2.
Ans

x 1. openly
’ 2. mostly

x 3. surprisingly

x 4. incredibly

Question ID : 424429714
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Red okra from Karnataka. Black rice from Gujarat. Red corn from Tamil Nadu. What you would
(1) as exotic varieties of food today are (2) indigenous crops that belong to a
specific region. Many such (3) crops have gone extinct. Many more are on the brink. But
with Indian households (4) more conscious about healthy eating and the natural
benefits of consuming local food, (5) among both consumers and farmers is

increasing.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.
Ans x 1. new
x 2. global
x 3. foreign
J 4. native
Question ID : 424429715
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Red okra from Karnataka. Black rice from Gujarat. Red corn from Tamil Nadu. What you would
(1) as exotic varieties of food today are (2) indigenous crops that belong to a
specific region. Many such (3) crops have gone extinct. Many more are on the brink. But
with Indian households (4) more conscious about healthy eating and the natural
benefits of consuming local food, (5) among both consumers and farmers is
increasing.
SubQuestion No : 8
Q.8 Select the most appropriate option for blank number 4.
Ans

x 1. became

x 2. have become

« 3. becoming
x 4. becomes

Question ID : 424429716
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the alternatives given.

Select the most appropriate option for each blank.

Red okra from Karnataka. Black rice from Gujarat. Red corn from Tamil Nadu. What you would (1)
indigenous crops that belong to a specific region. Many

as exotic varieties of food today are (2)

such (3) crops have gone extinct. Many more are on the brink. But with Indian households
(4) more conscious about healthy eating and the natural benefits of consuming local food,
(5) among both consumers and farmers is increasing.

SubQuestion No : 9

Q.9 Select the most appropriate option for blank number 5.

Ans x 1. intelligence

2. apprehension

3. awareness

X € X

4. experience

Question ID : 424429717
Status : Answered
Chosen Option : 3
Q.10 Select the INCORRECTLY spelt word.
x 1. Ideology
x 2. Jostle
x 3. llliterate
J 4. Dimention
Question ID : 424429726
Status : Answered
Chosen Option : 2
Ans
Q.11 Select the most appropriate meaning of the given idiom.
Let off the hook
Ans x 1. Not allowed to take part in an activity
x 2. Not made to wait for a long time
J 3. Allowed to escape from blame
x 4. Made to pay for one's actions
Question ID : 424429724
Status : Not Answered

Chosen Option :




Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.

My doctor knew that | would eventually recover and do the kind of work Would be doing
before.

Ans x 1. would have been doing
J 2. had been doing
x 3. would have done

x 4. No improvement

Question ID : 424429721
Status : Answered
Chosen Option : 3

Q.13 In the given sentence, identify the segment which contains the grammatical error.

A Delhi bound aircraft has to make an emergency landing at Mumbai airport as a woman
passenger suddenly developed a serious breathing problem.

Ans x 1. a serious breathing problem

x 2. suddenly developed

J 3. has to make

x 4. as a woman passenger

Question ID : 424429710
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate synonym of the given word.

DEROGATORY
Ans x 1. Favourable

x 2. Appreciative

J 3. Sarcastic

x 4. Lethargic

Question ID : 424429731
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate synonym of the given word.

DEPLETE
Ans x 1. Increase

, 2. Reduce
x 3. Raise
x 4. Complete

Question ID : 424429730
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate ANTONYM of the given word.

INCOHERENT
Ans x 1. Puzzling
2. Intelligible

3. Inconsistent

X X €

4. Delightful

Question ID : 424429723
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate word to fill in the blank.

You've cleared the examination, haven't you?
Ans J 1. entrance
2. frequent

3. ability

X X X

4. conclusion

Question ID : 424429732
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate word to fill in the blank.

The student has made a to the police about a false video of her that is being
circulated by some miscreants.

J 1. complaint

x 2. complaining

x 3. complain

x 4. complainant

Question ID : 424429733
Status : Answered
Chosen Option : 3

Ans

Q.19 Select the word which means the same as the group of words given.

Soon passing out or of a short duration
Ans x 1. Frostbite
2. Evanescent

3. Fluke

X X €

4. Extempore

Question ID : 424429729
Status : Answered
Chosen Option : 2




Q.20 Select the most appropriate ANTONYM of the given word.

OPTIONAL

Ans J 1. Compulsory

x 2. Elective
x 3. Fanciful
x 4. Original
Question ID : 424429722
Status : Answered
Chosen Option : 1
Q.21 Select the correct passive form of the given sentence.
My friend narrated a very interesting story at the International Storytelling Festival.
X 1. A very interesting story is being narrated by my friend at the International
Storytelling Festival.
X 2. A very interesting story was being narrated by my friend at the International
Storytelling Festival.
J 3. A very interesting story was narrated by my friend at the International Storytelling
Festival.
x 4. A very interesting story has been narrated by my friend at the International
Storytelling Festival.
Question ID : 424429708
Status : Answered
Chosen Option : 3

Ans

Q.22 Given below are four jumbled sentences. Out of the given options, pick the one that gives their correct
order.

A. Vijay the bus conductor was always there in one of these trucks.
B. He had now quit his old job and joined politics.

C. Inthe week before the elections, trucks bumped up and down the dirty streets ofLaxmangarh, full of young men holding microphones and
shouting: “Stand up to the rich!” D. That was the thing about Vijay; each time you saw him, he had done better for himself.

Ans x 1. CBAD

x 2. DABC
X 3. ABCD
J 4. CABD
Question ID
Status

Chosen Option

1 424429718
: Answered
14




Q.23 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No improvement’.

The teacher said that all that students who did not complete the task in the given time should attempt
it again.

Ans X 1. them

K 2 i
x3.Noimprovement
v

4. those

Question ID : 424429720
Status : Answered
Chosen Option : 4

Q.24 In the given sentence, identify the segment which contains the grammatical error.

According to environment activitists, demolition of unauthorised apartment complexes are
became a lesson for land encroachers.

J 1. are became

x 2. for land encroachers

x 3. demolition of unauthorised apartment complexes

x 4. According to

Question ID : 424429711
Status : Answered
Chosen Option : 1

Ans

Q.25 Select the most appropriate meaning of the given idiom.

Parthian shot
Ans X 1. Say goodbye
2. Parting hit

3. Victory

X X €

4. Praise

Question ID : 424429725
Status : Answered
Chosen Option : 3

Section : General Intelligence




' R weel # affe 3R wdE sgma F cgattud #

1. e

2. e I
3. IMH

4. e T
5.2

Ans of 1. 4-3-2-1-5
X 2 4-3-2-5-1
X 3 4-2-3-15
X 4 4-2-3-5-1

Question ID : 424429741
Status : Answered
Chosen Option : 1

Q2 zg Reey # waa FY OEH Gy 9 ¥ I8 GO ¥ S g 9E F 9w 9¢ X B
KLEN : EKNL : : GHIS : ?
Ans X 1 |GHS

X 2 [HSG
X 3 |HGS
v IGSH

Question ID : 424429745
Status : Answered
Chosen Option : 4

Q3 Crfafa gEer & weAfed (?) F1 TOF o TEa IS TEA F ThT FL
5. B: 15..775; 525 ?
Ans X 11050
X 2 1575
v 3 4725
X 4 2625

Question ID : 424429739
Status : Answered
Chosen Option : 3




Q4 37 3o wpfa & TOE WS AT g gy & g R (2) F T W oameE

A
@XEBA

X
Bﬂ/\@

Ans

v

A

i
x|

Bﬂ><
S5

D
D

XD
X

A

Question ID : 424429753
Status : Answered
Chosen Option : 1

Q5 Ru 7w Yoot 1 AR AT FY HR I TEA H TS FL S ST 9o Ree (?) F A W

3TTE

7 169

Y

6

9 121

Y

2

Ans X181

X 2196
X 3. 289
V' 4 256

Question ID : 424429737
Status : Answered
Chosen Option : 4




Q.6

mmmmmMaﬁm@m@qmg%Mﬁammmam
& g 3 AR W TRE T ¥ B gdd @ &, ¥E v W & Re v et A ¥ T @
oread Fum & AEF T T HTWOT = F

HYA:

1. @shr o7 amaa 2

2. Tl I IS &
sy

| & agegsT @ B

Il & smaa AR sgegsr A gl

M e TSRS 1| HeEROT AT B

X 2 Fae TSy | HFETor FIT
XKoo ar fossg | 3R & 1l 3egeRoT e B
Ko faswy | 3R 11 T HegET A gl

Question ID : 424429751

Status : Answered

Chosen Option : 1

Q7 gx ez Ruaw § B & @ 7 B e T g § 3R ve weg ¥ e e T 9T #

i X g A
X 2 AT
X 3 3egga AF
v 4 9T #F T feeT
Question ID : 424429750
Status : Answered
Chosen Option : 4
Q8 37 3R 1 TUT F S PEAtarad Aol #F ged REa (?) F T ) T
A, DB, F.D, |,LG&2. K
Ans

X1
Xz N
X3 E
viM

Question ID : 424429746
Status : Answered
Chosen Option : 4




¥ & g gl # fraw e 2

Ans X113
X218
v: 16
X421

Question ID : 424429754
Status : Answered
Chosen Option : 3

Q10 P i 4o F Teafes (?) &1 T I T dTeT T F TAS B

1

5 3
2A8 gAm 7 8

Ans xl' 11
X225
X316
V14

Question ID : 424429738

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q11 3R % 50 FAES F IS HFU A A 3R g@en F BT v Nad wuEt F a7 ¥ a1 HEd 7 F
W A R A BT HE

a_cd _cba_ bcddc _ a
Ans X 1 adcb

X 2 aaba

v 3 bdab

X 4 babd

Question ID : 424429744
Status : Answered

Chosen Option : 3




S e F FQY F 4@, aF 38 Fen, "qF AV T F T F TG F T g AW FoAsHA § Fq
Q.12 99 &2

X
v

X 3 srraT/etrST
X 4 graT/ANET

Ans

Question ID : 424429747
Status : Answered
Chosen Option : 2

w% faRaa g s # NEPOLIAN &I MCQQKGBP & & # forar siar g1 38 gesmsr 7
Q.13 MOHANDEV @' & for@r smeem?

e ¥ LMICMBFX
X LMICMBXF,
X NQICMBFX,
X NQGCLBFX,

Question ID : 424429742
Status : Answered
Chosen Option : 3

Q14 37 famed F1 T Ht forww IEY FEA ¥ T FEY § S gEY TEAT H g FEA A B
215 : 125 : : 415 : ?

Ans of 1145
X 2 250
X 3 625
X 2 154

Question ID : 424429736
Status : Answered
Chosen Option : 1




e a1v 37 smw # Rfdew s qamr Rives S &1 aeffar a1 §1 A ‘Fedt & g §, B
RSl #r gefar §°C ‘Aol #r gfar §,'D agdr #r g2 §,°F g Y gafar § 3 P
e g 1 P B e daer Feat, Fofdt AR AFet & wHg F gEr 2

Question ID : 424429758
Status : Answered

Chosen Option : 1

Q.16

RT 710 geafaT & SR @ A &7 HH AR A 70 FEH F FeS Hr A g 7§ FEer @
T Wew W g AT g e

i I im ]
Tl =
oo
Xl- ogd
Q
| I O
JZ- ElEE O
O
00 O
X3- OO O
O O
OO OO
X a4 oo
Q O




Question ID : 424429756
Status : Answered
Chosen Option : 2




Y 37 3o P T TS F o g I safafka #
(gFT= Fr srgAfy 7@ )

X L ""><

Ans

/]

A/
AR

xl/X/

Question ID : 424429755
Status : Answered
Chosen Option : 2

Q18 o ofER &, e AR A o S 9r gier § ARk gEE T & o or$ ¥ ReR & e
wfea &2

ans X1 g
X286
V8
X5

Question ID : 424429734
Status : Answered
Chosen Option : 3

Q.19 o THRET Fesmwr #, 458693 N 367784 % T H Fead fhaT TAT 1 FAN MU F 742351 F HFY
Feag frar Srem?

Ans X 1863442
X 2 655442
v 3 651442
X + 651462

Question ID : 424429743
Status : Answered
Chosen Option : 3




TR HER-TAGT F TPA U ¢ §, 59 ¥ A7 B 7 FoRelr wom & WA § o B Str s @ e

Q.20 Tl 3T W IORT F-TH TeA FT 9hT B

ae X KITE : TIEK,
X FIRU : RIUF,
X MANY : NAYM,

v LICK : ILCK,
Question ID : 424429749

Status : Answered

Chosen Option : 4

3 3ok AP & 9T FY, AT & 7€ e FT [Weit | Aga FAR—T A Foha g
( A, D & faudia gem

B, F &% fadia gem
C, E % falia gem

FIRIE

|u1|mw
T




Q.21

Ans

Question ID : 424429752
Status : Answered
Chosen Option : 2




37 faweT & 999 Y forme fwY weg & I T § S gAY A F UGS AT F g
Q.zzm:ﬁﬂsr::améagﬁr:?

ans AS 3TERTT
X fawe @ g
VR
X 4 FATE-aTs

Question ID : 424429748
Status : Answered
Chosen Option : 3

Q23 frw v FAERT # T F F T B o REe # RER aEen J= aRe?
(560 + 80) + 90 x 8 - 38 = 600

SV e,
X2+ 3t -
X3+ 3T+
X4.+3'ﬁ1-_

Question ID : 424429735
Status : Answered
Chosen Option : 1

Tfg e 3Mpfar # v gHUT F IW@T PQ T I@T ST §, A B T 3eal HFIT T2 Aplay &
T ador gfafds &7

b )
Q.24 S

X la
ijk
v ad
X P

Ans

Question ID : 424429757
Status : Answered
Chosen Option : 3




Q.25 =7 Fwae & 7 ¥ BeE ¥ &9 5 aw ¥ A § 3 U e ¥ srEerd ET &7 99 &P

Ans of 1. 2306

X 2 1331
X 31728
< 4 2197
Question ID : 424429740
Status : Answered
Chosen Option : 1
Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q1 v gFEER vE TG W 20% T ge I & TEeg 26% F A ST Fer g1 36 3% a6g & v
foramT s B o, Ty swe sifea Hew 2800 72

Ans X 1. T640
X 2 %800
V'3 3512
X 4 3492

Question ID : 424429763
Status : Answered
Chosen Option : 3

Q2 ofy B avg = THee aron o BT #oa #1 1/5 &, & SR @t $ e S
Ans X 1. 16%

X 2 20%

V'3 25%

X 4 80%

Question ID : 424429765
Status : Answered
Chosen Option : 3

Q3 72-3(2 + 24 + 4 X 3-2 X 2) + 8 & AT 4SBT
Ais X 1. 72

X2 36

v 32

X424

Question ID : 424429776
Status : Answered
Chosen Option : 3




R cos?O +cos*0 =1 &, A sinf + sin?6 F AT TATET
Ans x 1. 0

2
v
2

Question ID : 424429779
Status : Answered
Chosen Option : 3

Q3w g FeF FT SATET 7200 m2 ¥ sHF FAFOT Hr sa FAT @M
Ans o 1.120 m

X 21800 m

X360 m

X 4180 m

Question ID : 424429761
Status : Answered
Chosen Option : 1

Q6 o o #, v GEaE AT g@RT 2019 F G FAS ¥ (April), F (May), S (June), FaTE
(July) 3R 3TET (August) F aRTeT 3= o qraer Hr FEA (Number of Books) Z2if$ 1§ §1 ams
F1 eaa ffST A B 70 9o7 7 3eaxw &S

1000f -
200 800
800 |- —
"E 700 |-
@ 800 500
%5 500
_g ;goo: 350 3
= 2001
¢ April May June le August
Months
§ i AEA % SR 3 S TR B T GEA &
Ans X 1 2950
X 2 2800
X 3 2900
v+ 2850

Question ID : 424429782
Status : Answered
Chosen Option : 4




Q7 vw wfFd @ Fo et 29,000 F fader e smi 7 3%, 4% IR 6% IF @R == |
framl a9 & 3 A, 30 A ¥ WF F T F WK A T | 30F 6% TF @S |
TFaer gaufdr Fr Feer &ar ar

Ans X 134,000
X 2 35,000
v 3 32,000
X 4+ 3,000

Question ID : 424429767
Status : Answered
Chosen Option : 3

Q.8 - 2
Ife cosec 6 =gz—3'2§ g, af tan & FT AT FT EM?

Ans

W ik
2xy

(x2+y?)
2xy

(x2-y?)

v &)
2xy

X 3.

Question ID : 424429778
Status : Answered
Chosen Option : 4

¥ gfra+b=83Rab=12 § ar a*+ b F AF =TI
Ans X 1 512

X 2 288

v 3 224

X 4+ 96

Question ID : 424429772
Status : Answered
Chosen Option : 3




T a 3R b 3 T UAcHF IEaAE TEAC § B 4a2+ b2 =203 ab = 4 & @ 2a+ b F AT
Q.10 ¥ EFT?

v 6,

Ans
X 8,
X 5,
X 80,
Question ID : 424429773
Status : Answered
Chosen Option : 1
4
Mg cri=a g A xt+(2) F AW Faw
Q.11 *
Ans ’ 194 1.
X 14,
X 196,

X 16,

Question ID : 424429774
Status : Answered
Chosen Option : 1

Q12 600 FaerfEt aTel Fel F, o wHEERE Fr Wua g 42 7 ¥ AR Afger FA=RE H sitwa g
41a&%luﬁmﬁaﬁmzﬁr3ﬁmm41a&3ﬁrem% ar Afger FF=fEt $r g saET)

Ans X1 350
v 2 150
X 3 250
X 4 450

Question ID : 424429762
Status : Answered
Chosen Option : 2

13 I ‘o’ TF ST WG E, & (7a’+70) A W W wEm @ wem w2

v 7 3 14 @&t
X 2 Faer 14
X 3 Faer 7
X 4 Faer 21

Ans

Question ID : 424429775
Status : Answered
Chosen Option : 1




T T FF F 20 BT F W I TohaT 81 304 3@ W 5 A &I a1 30F a1€ 99 F7F
e F ke 15 e F @ fFaml 3 G v @y e 30 Y A Faw fE 7 @ W @
&

Q.14
1.
A 120 T
X216 &=
X312 e
v 410 feet
Question ID : 424429759
Status : Answered
Chosen Option : 1
Q.15 A
B P Q Cc
& 71§ Apfa F AP, BC & afieigaa § 3l [aT AQ, 0T PAC & GEefss 1 HI0r PAQ T A
=T
ans X 1500

X 2 45°
v 3 30°
X 4. 60°

Question ID : 424429771
Status : Answered
Chosen Option : 3

A e ar gg-ane 9w fafdes faemet P, Q, R, S 3R T & et & @ & yfaea-ar
faemor @t gaier §1 W e Regreat F ot g @Ew 8,400 §

fogzmem T # Rl &r we, e Regredt Q i S & Reafiat #r o wew & e sfawa
Q.16 &

Ans J 50% 1.

X 40%,
X 45%,
X 55%,

Question ID : 424429780
Status : Answered
Chosen Option : 1




e =€ &, o carT v e & afdes fawat - @Sy (English), REY (Hindi), 3@ (History),
37MET (Economics) T TeT=iifar fa=a (Political Science) & wrea v 71w it (Befr &) &r
gaitam wrar ¢ 9feT # Fo wod BFe A€ F 600 1 AE FeAAST FY AR BT AT o7 F e

e
Political Science
65 English
90
%5,
2055504
/ Hindi
Ecoﬁmws‘éﬁﬁy \55
70
History
Q7 s (History) & grearent 3k & (Hindi) & wreaier # fraar siaw &2
Ans x 40 1.

X 15,
v 25,
X 30,

Question ID : 424429783
Status : Answered

Chosen Option : 3

Q.18 150 m o€ T IMEr 90 km/h #& =TT T =l T g1 Ig TEMEr 300 m o« SACHH Fr ey
AT (WFs A) H IR & e

Ans o118
X6
X312
X+ 50

Question ID : 424429760
Status : Answered
Chosen Option : 1

& FEAHT T A 3 1 4 : 5 § 3N A dgeaA GAIE (LCM) 1800 &, & gl wEam A

Q.lgaﬁlﬁm

ae <90,
X 30,
v 120,
X 150,

Question ID : 424429766
Status : Answered
Chosen Option : 3




Arerasfrer & Tou # 9y 4% T & 2T €1 I SHH TAAA Hew 375,000 , A 2 AF A1G FHWH
Q.zoa\wa—ma’mr?

X 1. 372,000
X 2 370,120
v = 769,120
X 4 369,000

Ans

Question ID : 424429764
Status : Answered
Chosen Option : 3

Q21 3y v gea @ @, gea H & et F ¥ 9T F v Far § A det e
K1 900w yfaeefea wwdr ¥

X 2 60° oY gfa=ofea wwar §

X 2 30° oY gfaeofea & §

V4 THEEY F FAACK &

Question ID : 424429768
Status : Answered
Chosen Option : 4

& a1 gl A PQR o P ¢ BEA AT P : AT Q:FOTR=3:2: 1% ¥ PR RS &
Q.22 FEEEIT ¥ F0T TRS F AT T80

X 450
X 500,
v 60°,
X 300,

Ans

Question ID : 424429770
Status : Answered
Chosen Option : 3




1

IfE cos (A+B)=03 sin(A-B)== ¥, a B FT AT Ia=T|

2
o (7T & 0°<4,B<90°)
ams ¥ 300,
X 450,
X 60°,
X 900,

Question ID : 424429777
Status : Answered
Chosen Option : 1

wae &1 7T T A, IR OQ = QR &, A m F AR AT R
as 8 20°,

X n°,

v 3 3.

X 4n°,

Question ID : 424429769
Status : Answered
Chosen Option : 4




Q.25 s IF =T {egTT Hiew HT BT 717 w7 F 3057 AT

4
A2 4 e
Tm-

EM' n
pad
164

Elx
8 3
8 6
4
r—r— —
1 2 3 4 5 6 1

sfafes aarse i e & e
1 wEm

forae et T & = ofdfes 5 9 W 5 W ¥ ¥ FT TET AEES 5F TS A
GRICH ¥
Ans (1. 8
X2 46
V314
x46

Question ID : 424429781
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